Nombres Décimaux (J)

Trouvez chaque somme ou différence.

2+0,67= 85-0,77 =
7,6-0,15= 40-9,7 =
0,34 + 0,29 = 0,23 -0,14 =
79 +20 = 44 -13 =

99 - 0,82 = 6,2+0,73 =
85-0,74 = 23-0,93 =
64 -23 = 90 - 53 =
33+81 = 15 + 46 =
0,44 + 84 = 5,6-0,98 =
2,2-0,15= 76 + 0,81 =
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Nombres Décimaux (J) Solutions

Trouvez chaque somme ou différence.

2+0,67=2,67 85-0,77 = 84,23
7,6 - 0,15="745 40 -9,7=30,3
0,34 + 0,29 = 0,63 0,23 - 0,14 = 0,09
79 +20=99 44 - 13 =31

99 - 0,82 =98,18 6,2+ 0,73 = 6,93
85-0,74 = 84,26 23 -0,93 =22,07
64 -23 =41 90 - 53 =37
33+81=114 15+46=1061
0,44 + 84 = 84,44 5,6 - 0,98 = 4,62
2,2-0,15=2,05 76 + 0,81 =76,81
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